Ping, my little pink pig
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Ping is my little pink pig, | hope you like him!

| used two metallic rings to keep his rounded shape and two strands
of 100% polyester by DMC, wound with one strand of silk.

Metallic thread is Mouliné Metalisé (5288), silk is Faro by Cucirini
Cantoni Coats, n.3, color 258 (I think it's discontinued now).

The size of those threads wound together is very close

to a size 10, that's what | measure with my personal "gauge" ( a
chain of 7ds measure lcentimeter). So just for this tutorial, you will
see in pics also another thread, it is 100% cotton by Cucirini Cantoni
Coats, n.10.

Materials:

Polyester size 10 thread, one colour (less than 5 meters)
2 shuttles (wind about half of the thread in each shuttle)
2 beads size 4mm for eyes, round will be better

1 metallic ring diameter 2.2cm (about 0.9in)

1 metallic ring diameter 4,2cm (about 1.7in)

A thinner piece of thread for stringing beads

2 safety pins or clips

(optional) a crochet hook, a needle to hide ends
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Techniques

Mock ring

Face inward ring

Adding a bead in the center of a ring
Tatting around a plastic/metallic ring
Dimpled Ring

Catherine Wheel Join
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I 6ve a vi milickd butpt@ alsb attached at the end of this document.

For clarity, | liked dividing the pattern in 3 parts:
U Inner part (snout)
0 Middle part (ears)
0 OQuter part (body)

Inner part (snout)

In the text, rings and chains are numbered, so R1 is the first ring, Ch4 is the fourth chain, etc.
Wind half of the thread in each shuttle, leaving the thread CTM.

Inner part starts with a chain. | started like a mock ring because it will be as though it is a large ring. Do not
reverse work passing from chain to rings and vice-versa.

Take the loop for the mock ring in your hand and start with SH1.:

Chl: 8ds

(with SH2) afaceinwardring( i t 6 s | i k e foraed fo goouaderithe ghaim) R @ds
Ch2: 4ds
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Then there is the firstfi e y e 0, t h a ring with a heads In tha denten. g
Ring R2 is: 6ds, very small picot, 6ds, add a bead inside or even sew it at the end, you can use your
favourite method, in this case jump HERE.

| used this method to put the bead inside

R2: 3ds, leave a face inward picot measured with a picot gauge half a centimeter (about 0.2in, that is the
space needed for the 4mm bead plus 1mm space needed to insert the crochet hook), then 3ds, a very small
picot, 3ds, put the bead in the picot with the help of an auxiliary thinner thread, join, 3ds, close the ring. See
next pictures:
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After the first eye, thereds e
Ch3: 8ds

T h en telihe otteeibeye and the other face inward
ring:

R3: equal to R2

Ch4: 4ds

R4: face inward ring of 6ds, equal to R1
Ch5: 8ds

Close the mock ring.
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Middle part (ears)
Take the metallic ring with diameter 2.2cm and put both shuttle threads under it.

Then, with SH2 tat around the metallic ring, 16ds. Thread coming from the SH1 shuttle must be hidden
inside double stitches because it must be taken to the ear, which is a chain.

hide as core

@thread
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Ear s useringdf oldeeeadc aa ¢ eidt iins Mart ha Essd tatting page, TAT

Start a mock ring, pulling a loop from the SH1 shuttle (core thread).

Ch: 8ds, put a clip or safety pin here, first part half
ds, 6ds.
(with the first part half ds, the chain reverses/folds
inward)

.
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Then pull thread of SH1 but use a picot gauge to

measure 1cm left in the loop.
% Insert a crochet hook in the very small picot of the

eye, grab the loop left from the mock ring and pass it
through the picot. There, you should block the SH1
@ with a lock/shuttle join.

Tat a second part half ds to reverse/fold chain
outward

Then there is the second ear. Ch: first part half ds, 6ds, second part half ds, put a clip or safety pin here, 8ds.

Then pull thread of SH1 but use a picot gauge to measure 1cm left in the loop.
Insert a crochet hook in the very small picot of the other eye, grab the loop left from the mock ring and pass it
through the picot. There you should block the SH1 with a lock/shuttle join.

Continue with SH2, tatting around the metallic ring 16ds, thread from SH1 must be hidden inside ds.
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Outer part (body)

Take the metallic ring with diameter 4.2cm and put both shuttle threads under it.

A note: pay attention on how much thread is left over each shuttle: the one with more thread will go toward
the left in the drawing, to tat till the end of the tail, the other with less thread will go to the right in the drawing
(only 2 chains and 1 dimpled ring).

Let® say that SH1 go to the left and SH2 go to the right.

With SH2, tat around the metallic ring 9ds, then tat a dimpled ring:

Dimpled Ring: 10ds, small picot, 3ds, pull the loop for the dimple, 3ds, join, 10ds, close.
(Another notation for the dimpled ring without the loop: 10ds, picot, 7ds, join to previous picot, 10ds)

Continue with SH2, tatting around the metallic ring 16ds, then take out the
pin and join to the ear below with a catherine wheel join.

Continue with SH2, tatting around the metallic ring 9ds more.
Drop SH2 and take SH1.

With SH1, tat around the metallic ring 9ds, then tat a dimpled ring equal to
previous one.
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